NEW PRICE

									INEAN LIEIM	2022-04-29
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Ar	mount	L/T	Remark
1	Helmet		heat resistance from -10 ° C to + 50 ° C electrical insulation up to 440 V easily adjustable circuit size material: polyethylene standard: EN 397	€ 3.33	20	pcs	€	66.60	0.5~1.5W	Color: white, yellow, orange, red, blue or green
2	Chinstrap for No.1	The color of the Colored 2	chin strap for helmet	€ 1.74	20	pcs	€	34.80	0.5~1.5W	
3	Helmet		material ABS with ventilation holes for comfortable wearing the continuous setting of the circuit is regulated by a rotating red wheel comfortable 6-point fabric head cross guarantees excellent helmet stability replaceable front sweatband made of PR cotton, a pleasant and highly absorbent material extreme heat resistance from -20 ° C to + 50 ° C, standard: EN 397	€ 7.78	20	pcs	€	155.68	2~4D	
4	chinstrap for No. 3	C ARBON G ARE	chin strap for helmet	€ 1.26	20	pcs	€	25.23	2~4D	
5	Shield holder		helmet mount with helmet No. 1, No. 3 great variability of accessories	€ 4.59	10	pcs	€	45.92	0.5~1.5W	
6	Shield		polycarbonate protective visor guarantees maximum protection and high comfort thanks to a wide panoramic field of view size 40 x 22cm, standard: EN 170 lens color: clear	€ 5.17	10	PCS	€	51.66	0.5~1.5W	shield for Shield Holder No. 5

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	A	mount	L/T	Remark
7	helmet holder		the hard head shield is compatible with most safety helmets intuitive lens mounting system for quick and easy replacement the locking hinge secures the visor when raising and lowering positions	€ 23.93	5	PCS	€	119.63	0.5~1.5W	most helmet compatible Brand: Honeywell
8	PC visor clear shield		spacre visor for No. 7 material: polycarbonate standard: EN 170 lens color: clear	€ 11.35	5	pcs	€	56.77	0.5~1.6W	type: clear, Welding, Smoke Brand: Honeywell
9	Safety Helmet	V b	Color: Yellow, Royal Blue, White Vented helmet, adapted for working at heights. High wearing comfort polyethylene shell, six points harness and buckle adjustment. Supplied with sweat band and 4 points chin strap(included) (Y style). Materials: PE	€ 9.17	20	set	€	183.30	1~2W	
10	Endurance Visor Helmet		Color: Blue, White, Red, White, Orange, Yellow Vented helmet. ABS shell, textile comfort harness 6 points, wheel ratchet adjustable size, 56-63 cm. Sweat band and chin strap included. Retractable clear visor included Materials: ABS, Polycarbonate	€ 11.31	20	set	€	226.20	from end of May	Compatible accessories available
11	3M Helmet		smooth screw adjustment, a plastic sweatband and ventilation . high-quality ABS plastic, resistant to UV rays. Suspension with screw adjustment for smooth adjustment.	€ 19.90	20	pcs	€	398.06	0.5~1.5W	

NEW PRICE NEW ITEM

									INCAN LICIAL	
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	А	mount	L/T	Remark
12	3M chinstrap		for 3M relevant helmet	€ 6.10	20	pcs	€	122.04	0.5~1.5W	
13	Safety Helmet for antistatic		thermoplastic helmet, six-point fabric cross with clamping wheel resistant to electric shock up to 1000 V - EN 50 365 patented adapter that is part of the helmet standard: EN 50365 EN 397	€ 19.55	10	pcs	€	195.48		color: only blue special offer stock: 24pcs
14	chinstrap for No.9		2-point chin strap	€ 4.59	10	pcs	€	45.92	0.5~1.5W	
15	sticker for helmet	BUH	5*5cm sticker (transparent) , 1 color	€ 1.13	50	pcs	€	56.25	checking	헬멧 스티커
16	name card sticker		worker info.	€ 1.63	50	pcs	€	81.25	checking	헬멧용 이름판
17	LED HEAD LIGHT	TEAW E Q	Brightness 40 lumens Run time 10 hours Batteries included AAA x 3 Function high-medium-flashBeam 8 super bright 8 LED's Tilt control for different working positions CE certified	€ 4.39	20	pcs	€	87.75	2~4D	
18	sunglasses		standard: EN 170 MO: FT material: polycarbonate marking of lenses: 2 - 1.2 1 FT O lens treatment : UV filter, anti-fog treatment, anti-scratch treatment lens color: yellow	€ 2.12	20	pcs	€	42.30	0.5~1.5W	

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
19	3M stylish goggles modern design		adjustable pages slope material: polycarbonate lens, nylon sides standard: EN 172 MO: FT lens marking: 5 - 2.5 1 FT lens treatment : UV filter, non-fogging treatment, anti-scratch treatment	€ 8.36	10	pcs	€ 83.58	0.5~1.5W	
20	HoneyWell Glasses		weight only 22 g material: polycarbonate lens, polycarbonate pages with soft parts standard: EN 170 MO: FT lens marking: 2C - 1.2 1 FT lens treatment anti-scratch treatment	€ 4.00	10	pcs	€ 40.04	0.5~1.5W	
21	adjustable Glasses		lens with FLD technology (floating lens) patented nasal bridge made of analgesic material with height adjustment system of quick exchange of elastic band and visor easy installation of rubber seals correction version available (caliber: 55 21)	€ 10.04	10	pcs	€ 100.38	0.5~1.5W	길이 조정 가능
22	Welding Helmet	100 Page 100	self-darkening welding helmet powered by solar cells and lithium battery blackout range 9-13 adjustable degree of blackout adjustable switching time standard: EN 379 1/2/1, EN 175 material: polyamide color: black	€ 43.06	5	pcs	€ 215.28	0.5~1.5W	

NEW PRICE NEW ITEM

								INLVV IILIVI	2022-04-23
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
23	Welding Helmet	North Control of the	switches from a light to dark state when welding activity starts. Light state is DIN 4; Dark state is adjustable from DIN 9 to DIN 13 using the external knob. Response time from light to dark state is 0.04 milliseconds; return from dark to clear state in 0.03-0.04 sec. Power is supplied by solar cells with 2 built-in lithium batteries to offer power back-up for limitinguipoise Sifaule's nearly for limiting activities.	€ 39.65	5	pcs	€ 198.25	1~2W	
24	Welding Safety Spectacles (Polycarbo nate)	3	protection and adjustable arms for customised comfort. Features Single panoramic lens glasses Extendable side arms for secure and comfortable fit Excellent side protection Moulded side shield and browguard for antimizer thase twitin worniters impacts	€ 4.57	10	pcs	€ 45.68	1~2W	can supply end of January
25	3M Full Face Mask - 6000 Series		provides a more balanced seal than a mask with one heavy filter in the front reduces breathing resistance improves the field of view 3M filter bayonet clamping system for secure and secure filter attachment soft and light elastomeric facial part uses all existing 2000, 5000 series filters and	€ 106.38	2	pcs	€ 212.76	0.5~1.5W	
26	Filter 3M 5911	# 31 314 Pt (4 1286 Pt	meet against sinufilitur inquiru particles suitable for all 3M 6000 and 7000 series masks a 3M 501 filter holder must be used for separate attachment of 5000 series filters (ie without combination with 6000 series filters) to 3M masks it is necessary to use an additional 3M 603 platform recommended areas of use: construction,	€ 1.20	100	pcs	€ 120.40	0.5~1.5W	

NEW PRICE NEW ITEM

								INLVV IILIVI	
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
27	3M Half mask		half mask with two filters provides a more balanced seal than a mask with one heavy filter in the front reduces breathing resistance improves the field of view 3M filter bayonet clamping system for secure and secure filter attachment soft and light elastomeric facial part sizes: S (6100), M (6200), L (6300)	€ 16.75	5	pcs	€ 83.77	0.5~1.5W	
28	Filter 3M 6051	AT MOST	filter against organic gases and vapors suitable for all 3M 6000 and 7000 series masks recommended areas of application: work with conventional paints, production of means of transport, production and use of paints and inks, processing of adhesives, production and processing of rubber in two variants: classic (F4014) and with life indicator (F4014 / i) the price is for 1 piece; minimum order quantity 2 poss (3M masks require 2 filters)	€ 5.27	20	pcs	€ 105.30	0.5~1.5W	
29	welding apron		split cowleather welding bib apron(60*91cm) EN ISO 11611:2015 CLASS 2/A1+A2 TÜV BP 60132827 0001 TÜV 60150123 001 KEVLAR® 3 ply – Side split cow leather – Leather thickness: min. 1 mm. – Self-balancing strap system	€ 27.29	10	pcs	€ 272.85	1~2W	
30	Welding Blanket		Color: Black spec.: 1.83M(witdh)*45Meter, Roll Type made of silica fabric at ± 800 grams/m² intended to withstand a temperature of ± 550°C	€ 1,120.28	1	roll	€ 1,120.28	1~1.5W	불티방지포(롤) Free Delivery TUV test Report

NEW PRICE NEW ITEM JM Euro s.r.o. 2022-04-29

No.	ltem	Photo	Code, Spec.	Quotation (부가세미포힘	t) (Qty (MOQ)	Unit	А	mount	L/T	Remark
31	3M ™ EAR ™ Banded plugs		 26 dB Maximum comfort Foam plugs are replaceable for better hygiene and greater savings and can be ordered separately (3M ™ 1311) Unrivaled flexibility 3M ™ elastic band 1310 helps maintain constant pressure, regardless of head size 	€ 1.8	39	20	pcs	€	37.80	0.5~1.5W	
32	earplugs	9	earplugs with rounded front end soft PU foam, low pressure on the wall of the ear canal earplug with connecting thread	€ 0.3	86	100	pcs	€	36.00	0.5~1.5W	
33	earplugs		earpings with rounded front end soft PU foam, low pressure on the ear canal wall material: polyurethane foam, color: yellow standard: EN 352-2, SNR attenuation: 36 dB	€ 0.1	4	500	pair	€	67.50	0.5~1.5W	
	shell hearing protector		material: stainless steel wire, PVC, acetate, ABS, polyether standard: EN 352-1 SNR attenuation: 27 dB	€ 17.3	31	5	pcs	€	86.54	0.5~1.5W	3M Peltor 헬멧 탈착용 공급 함
	discount					1	time		-€ 241.06		3,000€~:5%
	Delivery Charge		To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET express 단독차량 160~190€ 1DAY	€ 35.0	00	1	Ship	€	35.00		T,000€~ : Free (부피)중량물 제외 (예:보루, 헬멧,라바콘 드\

EXW Trnava(SK)

€ 4,615.17

Payment : In Advance

If the qty is changed, probably the price will be changed

Leading Time; counting after payment confirmation

https://www.jmeuro.com/faceprotector